HSC 2001 - Biology

Question 9
Question 9
9  Haemophilia is a human disease in which the blood of an affected individual does not
clot. The disease is known to be caused by a sex-linked recessive allele.
The family pedigree shows the pattern of inheritance of this disease in a family.
I Key
Q =normal female
|:| =normal male
I
= haemophiliac female
1 = haemophiliac male

If X" is the allele for haemophilia and X" is the allele for normal clotting, what is the

genotype of individual 5?

Aa) xbxh

B) X"x»

(€ X™X"

(D) XY
Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 4.5 25 1.3 1.2 0
C 355 36.5 27.6 52 1.1
D 20.9 9.9 6.2 14 1.1
N 0 0 0.3 0 0

Question 9

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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